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MCQ If a = a force of
30N, acting in the
east direction. b
=a force of 40N,
acting in the north
direction. find the
magnitude of the
vector sum r of
these forces

McQ If Ais (3,6) and B
is (4,8). Find the
coordinate of the

midpoint of AB
McQ The gradient of
the line A(4,3) and
B(8,6)
McQ Find the

asymptotes of the
hyperbola whose

equation is given

as

$2

_ y2 =1
49
MCQ Find equation of

an ellipse whose
major axis is
vertical, with the
center located
(-1,3) at the
distance between

the center and one

of the covertices

equal to 4, and the

distance between

the center and one

of the vertices
equal to 6.

MCQ Find the equation
of the parabola
with focus (-1,4)
and directrix y=3
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Given the
equation

922 — 16y* = 14

, Find the
coordinate of the
foci

Given the
equation

922 — 16y% = 14

, Find the
interception at x

Given that ellipse
has an equation of

922 + 4y = 36

Find the equation
of the parabola
having vertex (0,0)
axis along the x-
axis and pass
through (2,-1)

Find the focus in
the equation \
[yM{2}=5x\]

Find the focus of
the parabola
whose equation is
\[yN2}+32x\]

Find the directrix
of the parabola
whose equation is
\[xN2}-30y\]

Find the equation
of the circle with
its center at the
origin with
points(-3,4) on the
circle

Find the radius of
a circle given by \
[x=4+2\cos\theta,
y=-3+2\sin\theta\]

Find the vector
product \[a\times
b\l. fa=i+2j-k
andb=2i+3j+k

Find the center of
a center of a circle
given by \
[x=4+2\cos\theta,
y=-3+2\sin\theta\]

Find the
parametric
equations of a
circle with centre
(2,-1) and radius 3

F1(5’ 0)7F2(7570)

\[F\left(4\frac{1}{4},0\right)\]

F(-5,0)

\[-T\frac{1}{2}]

\xM2)+y"{2}=25\]

5i-3j-k

(5.3)

\[x=2+3\cos\theta,
y=-1+3\sin\theta\]
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F1(2’ 0)7F2(7270)

\[F\left(3\frac{1}{4},0\right)\]

F(-8,0)

\[-8\frac{1}{2}\]

\xM2}-y*{2}=251

2i-4j-k

@1

\[x=1+2\cos\theta,
y=-2+3\sin\theta\]
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Fi(3,0), Fy(—3,0)

\[F\left(2\frac{1}{4},0\right)\]

F(-7,0)

\[B\frac{1}2}\

\xM2}+y"{2}=15\]

3i+j-k

(4-3)

\[x=2+5\cos\theta,
y=3\sin\theta\]

Fi(6,0), Fy(—5,0)

\[F\left(1\frac{1}{4},0\right)\]

F(-6,0)

\[-5\frac{1H{2}\]

\xM2}-y*{2}=15\

I-j+ 3k

(3.6)

\[x=-2+5\cos\theta,
y=-3+2\sin\theta\]
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Find the point of
the intersection of
the center \
[xM2}+y*{2}-3y=0\]
with line y=x-1

Given the
equation of a
circle is \
XM{2}+y™{2}+2x-
6y-15\]. Find the
radius of the circle

Given the
equation of a
circle is \

X2} +y™{2}+2x-
6y-15\]. Find the
center of the circle

Find the center of
the circle \
XM2}p+y2}+8x +
6y = 0\].

Find the radius of
the circle \
[XM{2HyM2p+8x +
6y = 0\].

Find the equation
to the straight line
passing through
the point of
intersection of the
lines 5x+6y +1 =0
and 3x + 2y +5 =0
and perpendicular
to the line
3x+5y+11 =0

A straight line has
a gradient of \
[frac{5}X3}\] and it
passes through
the point (1,3).
Find its equation

If Ais (3,6) and B
is (4,8). Find the

coordinate of the
midpoint of AB

The gradient of
the line A(4,3) and
B(8.,6)

Find the distance
between the point
A(5,4) and B(7,6)

A vector having
direction opposite
to that of vector

A buth with the
same magnitude
is denoted by ------

(1,0) and (2,3)

(-1.2)

(-3.-4)

2x +3y+4 =0

\[rac{B}{3)x-frac{8{3N]

\Neft(3\frac{1}{2}, 7\right)\]

\[rac{3H4N]

\Nsqrt(2)\]

-B
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(1,0) and (2,1)

(2.5)

(-4.-3)

5x + 3y+8 =0

\[rac{B}{3)x+\frac{8}{3)N]

\Neft(-2\frac{3}{4},5\right)\]

\Mrac{3H5N]

\[2\sqrt(2)\]
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(0,1) and (1,1)

(2.5)

(3.4)

2x+4y+5 =0

\[rac{1}{3)x-frac{2}{3N]

\Neft(3\frac{3}{5},6\right)\]

\[rac{1}{6N]

\[2\sqrt(3)\]

-A

(2,3) and (2,2)

(-1.3)

(4.3)

3x+2y+7 =0

\[rac{2}{3)x+\frac{2}{5\]

\Neft(3\frac{3}4},7\right)\]

\[rac{2}{50]

\N\sqrt(3)\]

/

/
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If a=2i+4j+3k and
b=i+5j-2k. Find the
vector product of a
and b

If a=5i+4j+2k,
b=4i-5j+3k and
c=2i-j-2k.
Determine value \
[a\dot b\]

If a= 2i+2j-k and
b=3i-6j+2k. Find
the scalar product
aandb

Find the direction
cosine [I,m,n] of
the r=2i+4j-3k

IF\[Z_{1}=2i-4{\]\
[Z_{2)=2i+6}\] and
\[Z_{3}=3i-}\] find
the \[Z_{1}-Z_{2}-
Z {30

IF\[Z_{1}=3i+5}\]
and \
[Z_{2}=7i+3]\], find
the \[Z_{1}-Z_{2}\]
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-3i+5j-k

10i-4j-4k

7i-2j-3k

\Nfrac{2}{\sqrt(29)},\frac{4}
{\sqrt(29)},\frac{-3}
{\sart(29)]

-6i-9j

-4i+2]
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-3i+75j+3k

10i+4j+4k

8i-22j-5k

\Nfrac{2}{\sqrt(27)},\frac{4}
{\sqrt(27)},\frac{-3}
{\sart(27)]

3i-4j

i+3j

-23i+7j+6k

8i-2j-4k

6i-12j-2k

\Nfrac{-1}{\sqrt(29)},\frac{5}
{\sqrt(29)},\frac{4}
{\sart(29)]

-3i-9j

2+3]
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-23i-7j+2k

10i+4j+4k

6i-3j+k

\Nfrac{2}{\sqrt(27)},\frac{4}
{\sqrt(27)},\frac{-3}
{\sart(27)}]

2i-5)

-5itj
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